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Algebra 2; Cummulative Review Homework 4
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3. Are the graphs of the lines in the pair parallel?
Explain.
y=—%x+10

—x-9=-11 —* 5)5-’ -._1 ”,‘ 4

a. Yes, since the slope arJ the same and the
y-intercepts are the same. _

b. No, since the y-intercepts are different.
Yes, since the slope are the same and the
y-intercepts are different.

d. No, since the slopes are different.

g

4. Write the equation of a line that is perpendicular to
the given line and that passes through the given

point. __ b
~x — 6y =12;(9,-8) y= mx
a. y=—6r-62 -¥ ((G) +b
i b= 6%
c. y=Ex—62 . 6
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@ y=6:-62 Y= =
“ Kby =12
— by = x4 11
. -Lox + 12
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m= -/
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5. Solve: [-7x+2|=-
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6. Solve: u==,fort¢ Cxtmns
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8. Simplify: —(6)™
a. 6 s
b i

—18

1
c. —

"6
3’ 2

9. Simplify: = = 3
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a. 3¥
b. 3%
4
39
d.) 9

c.

(.;f)s: -1

2
-1’

10. Simplify: 2

- [-(-8)]°

() 64 - g Ly

11. Write in scientific notation: 8,670,000,000
a. 0.867 x 10" 9
L b78 Kk /O
b-867x 1000 670K !

©) 867 x10°
d. 867x10

12. Simplify the expression. Write the answer using
scientific notation. (0.4 x10)(0.7x10?)

(a) 28x10°  ,28xjo

b. 2.8x107® - ,!"3‘3' X lo") P
c. 2.8x107 2 ~4

d. 028x10% 2.5 x (0

13. Simplify: 8p(-3p? + 6p—2)
a. -5pi+14p-6p
b. 48p*-1l6p-24p}
c. l14p2-6p-5p°
—-24p3+48p2 - 16p
%

...quga +L’SP = “.l"(’

[-1- 2]

§

2 ID: A
"loxl- Yxtiz —i2x - Ax43

14. Simplify: (-1(1:2—4x+12J—(12x’+19x-3] ((‘)

22 ~15x+ 15
-22¢% ~16x +-9
-22¢? ~23x 49
(D —22¢%-23x+15

e oe

“‘22):1-23)( +1i5

15. Solvef4-3@a+a)=7 |. 5

a. -74
b. -6
@33 20 — 3{3a4u) =35
20 - 94 ~ 12 =
§-qa =25
— b - 1
pE =3



